Solubility Product Constant, Ksp
An equilibrium exists between a solid ionic compound and its dissociated ions in solution.


Ag2S(s)

2Ag+(aq) + S2-(aq)
Keq = 

However, solids are constant (do not effect equilibrium).

Therefore, Ksp = 

· Values for Ksp are only determined for ionic compounds that are classified as insoluble or slightly soluble.

· The smaller the Ksp value the less soluble the salt.

· Ksp is temperature specific

· Ksp is independent of the source of the ions.

Practice Problems # 9-12 on page 432

Practice Problems # 13-16 on page 433

